FIXED POINT RESULTS IN PARTIALLY ORDERED METRIC SPACES USING WEAK CONTRACTIVE INEQUALITIES

Ali Abkar and Binayak S. Choudhury

Abstract. In recent times control functions have been used in several problems of metric fixed point theory. Again, after the establishing of the weak contraction principle, weak contractive inequalities have been considered in a number of works on fixed points in metric spaces. There has been a rapid development of fixed point theory in partially ordered metric spaces in recent times. In this paper we establish fixed point results for mappings of partially ordered metric spaces satisfying some weak contractive inequalities involving more than one control functions. An illustrative example is given.

1. Introduction

The Banach contraction mapping principle is widely recognized as the source of metric fixed point theory. Its generalizations over the years have remained heavily investigated. Some recent works of this kind are noted in [2, 6, 9, 12]. In particular, in [1] Alber and Guerre-Delabriere introduced the concept of the weak contraction in Hilbert spaces. Rhoades [10] had shown that the result which Alber et al. had proved in Hilbert spaces [9] is also valid in complete metric spaces. Weak contraction principle, its generalizations and extensions and other fixed point results for mappings satisfying weak contractive type inequalities have been considered in a number of recent works. Some of these works are noted in [3, 4, 5, 7, 11, 13]. Khan et al. [8] introduced the use of a control function in fixed point problems. This function was referred to as 'Altering distance function' by the authors of [8]. This function and its extensions have been used in several problems of fixed point theory. Particularly, in [7] more than one control functions have been used. In recent times fixed point theory has developed rapidly in partially ordered metric spaces, that is, in metric spaces endowed with a partial ordering.

The purpose of the paper is to establish two fixed point theorems in partially ordered complete metric spaces for mappings satisfying certain weak contractive inequalities each of which involves more than one control functions (as in [7]). In

Received February 01, 2012.

²⁰¹⁰ Mathematics Subject Classification. Primary 47H10; Secondary 37C25

section 2 we have proved a common fixed point result for two mappings. The result has a corollary. In section 3 we have established a fixed point theorem for a single mapping. Finally in section 4 we have given an illustrative example.

Throughout this paper (X, d) stands for a complete metric space and $' \preceq'$ is a partial order on X.

A mapping $T: X \to X$ is said to be non-decreasing if $Tx \preceq Ty$ whenever $x \preceq y$. In this paper we shall assume that X has the following property:

If a non-decreasing sequence $\{x_n\}_{n \ge 0}$ converges to $z \in X$, then $x_n \preceq z$ for each $n \ge 0$. (1.1)

2. A Common Fixed Point Result

This section is devoted to common fixed point results for two self mappings T, S defined on a partially ordered metric space (X, d). We begin by recalling the following theorem proved by D. Doric in [5]. Then we shall extend this result to complete partially ordered metric spaces.

Theorem 2.1. ([5]). Let (X, d) be a complete metric space and let $T, S : X \to X$ be two self mappings such that for all $x, y \in X$

(2.1)
$$\Psi(d(Tx, Sy)) \le \Psi(M(x, y)) - \Phi(M(x, y)),$$

(2.2) $M(x,y) = \max\{d(x,y), d(x,Tx), d(y,Sy), \frac{1}{2}[d(y,Tx) + d(x,Sy)]\},\$

and $\Psi : [0, \infty) \to [0, \infty)$ is a continuous monotone non-decreasing function with $\Psi(t) = 0$ if and only if t = 0, and $\Phi : [0, \infty) \to [0, \infty)$ is a lower semi-continuous function with $\Phi(t) = 0$ if and only if t = 0. Then there exists a unique point $u \in X$ such that Su = Tu = u.

The following theorem is a generalization of the above result in partially ordered metric spaces.

Theorem 2.2. Let (X, d) be a complete partially ordered metric space with a partial order ' \leq ' and having the property described in (1.1). Let $T, S : X \to X$ be two self mappings such that for all comparable $x, y \in X$ with

(2.3)
$$\Psi_1(d(Tx, Sy)) \le \Psi_2(M(x, y)) - \Phi(M(x, y))$$

where

(2.4)
$$M(x,y) = \max\{d(x,y), d(x,Tx), d(y,Sy), \frac{1}{2}[d(y,Tx) + d(x,Sy)]\},\$$

 $\Psi_1, \Psi_2: [0, \infty) \to [0, \infty)$ are continuous monotone non-decreasing functions, and $\Phi: [0, \infty) \to [0, \infty)$ is a lower semi-continuous function which satisfies $\Psi_1(t) - \Psi_2(t) + \Phi(t) > 0$. If X has the property (1.1) and if there exists a point $x_0 \in X$ satisfying $x_0 \preceq Sx_0 \preceq TSx_0 \preceq S(TS)x_0 \preceq (TS)^2x_0 \preceq \cdots$. Then there exists a point $u \in X$ such that Su = Tu = u.

 $\mathbf{2}$

Proof. We consider the following sequence:

(2.5)
$$x_1 = Sx_0, \quad x_2 = Tx_1, \quad x_3 = Sx_2, \quad x_4 = Tx_3, \cdots,$$

and in general, for all $n \ge 0$, $x_{2n+1} = Sx_{2n}$ and $x_{2n+2} = Tx_{2n+1}$.

Then, from a condition of the theorem, it follows that

(2.6)
$$x_0 \preceq x_1 \preceq x_2 \preceq x_3 \preceq \cdots x_n \preceq x_{n+1} \preceq \cdots$$

We now prove that

(i) $\lim_{n \to \infty} d(x_n, x_{n+1}) = 0;$ (ii) The sequence $\{x_n\}$ is Cauchy, so that $x_n \to z$ for some $z \in X$; (iii) Sz = Tz = z;(iv) The common fixed point z is unique. Let n = 2k + 1 be an odd number. Then, from (2.5), $x_n = Sx_{n-1}, x_{n+1} = Tx_n$. We now have

$$M(x_n, x_{n-1}) = \max\{d(x_n, x_{n-1}), d(x_{n+1}, x_n), \frac{1}{2}(d(x_{n-1}, x_{n+1}) + d(x_n, x_n))\}.$$

If $d(x_n, x_{n+1}) > d(x_n, x_{n-1})$, then $M(x_n, x_{n-1}) = d(x_n, x_{n+1})$. Then, putting $x = x_n$, and $y = x_{n-1}$ in (2.3), in view of (2.6), we obtain

(2.7)
$$\Psi_1(d(x_{n+1}, x_n)) \le \Psi_2(d(x_{n+1}, x_n)) - \Phi(d(x_{n+1}, x_n))$$

which is a contradiction with $d(x_n, x_{n+1}) > d(x_n, x_{n-1}) \ge 0$. Therefore

(2.8)
$$d(x_n, x_{n+1}) \leq d(x_{n-1}, x_n)$$

Similar argument shows that (2.8) is valid for even natural numbers. Hence the sequence $\{d(x_n, x_{n+1})\}$ is decreasing, and the limit $r = \lim_{n \to \infty} d(x_n, x_{n+1}) \ge 0$ exists. If r > 0, by putting $x = x_n$, $y = x_{n+1}$ in (2.3) and taking limit as $n \to \infty$, it follows that $\Psi_1(r) \leq \Psi_2(r) - \Phi(r)$ which is a contradiction with our assumption. Hence r = 0, that is, (2.9)0.

$$\lim_{n \to \infty} d(x_n, x_{n+1}) = 0$$

In view of (2.9), to show that $\{x_n\}$ is a Cauchy sequence, it suffices to verify that $\{x_{2n}\}$ is Cauchy. If not, then there is an $\epsilon > 0$ for which we can find subsequences $\{x_{2m(k)}\}\$ and $\{x_{2n(k)}\}\$ such that n(k) is the smallest integer corresponding to m(k), for which n(k) > m(k) > k and

$$(2.10) d(x_{2m(k)}, x_{2n(k)}) \ge \epsilon$$

Hence, for all k > 0, (2.11)

$$d(x_{2m(k)}, x_{2n(k)+2}) < \epsilon.$$

Then, for all $k \geq 0$,

$$\begin{aligned} \epsilon &\leq d(x_{2m(k)}, x_{2n(k)}) \\ &\leq d(x_{2n(k)}, x_{2n(k)-1}) + d(x_{2n(k)-1}, x_{2m(k)+1}) + d(x_{2m(k)+1}, x_{2m(k)}) \end{aligned}$$

and

$$d(x_{2n(k)-1}, x_{2m(k)+1}) \le d(x_{2n(k)-1}, x_{2n(k)}) + d(x_{2n(k)}, x_{2m(k)}) + d(x_{2m(k)}, x_{2m(k)+1}).$$

Taking $k \to \infty$ in the above inequality, and using (2.9), we have

(2.12)
$$\lim_{k \to \infty} M(x_{2n(k)-1}, x_{2m(k)+1}) = \epsilon.$$

Similarly, we deduce the following limits.

(2.13)
$$\lim_{k \to \infty} d(x_{2m(k)+1}, x_{2n(k)}) = \epsilon.$$

(2.14)
$$\lim_{k \to \infty} d(x_{2n(k)-1}, x_{2m(k)}) = \epsilon.$$

(2.15)
$$\lim_{k \to \infty} d(x_{2n(k)}, x_{2m(k)}) = \epsilon.$$

Again, by virtue of (2.6), putting $x = x_{2n(k)-1}$ and $y = x_{2m(k)}$ in (2.3), and then letting $k \to \infty$, using (2.9),(2.12),(2.13), (2.14) and (2.15), we obtain $\Psi_1(\epsilon) \leq \Psi_2(\epsilon) - \Phi(\epsilon)$, which is a contradiction. Therefore, such an $\epsilon > 0$ can not exist. Hence the sequence $\{x_n\}$ is Cauchy. Let $x_n \to z \in X$. By our assumption (1.1), $x_n \preceq z$ for each n. Then following the same steps as in the proof of step 3 of Theorem 2.1 in [10] we conclude that

$$\Psi_1(d(Tz,z)) \leqslant \Psi_2(d(Tz,z)) - \Phi(d(Tz,z)),$$

which is a contradiction unless d(Tz, z) = 0 or Tz = z. We now have

$$\Psi_1(d(Sz,z)) = \Psi_1(d(Sz,Tz)) \leqslant \Psi_2(M(z,z)) - \Phi(M(z,z)) = \Psi_2(d(z,Sz)) - \Phi(d(z,Sz))$$

which leads to a contradiction, unless Sz = z. Thus we have, Tz = Sz = z. This completes the proof of the theorem. \Box

By putting S = T in the above theorem, we have the following result.

Theorem 2.3. Let (X, d) be a complete metric space with a partial order $' \leq '$ and having the property described in (1.1). Let $T : X \to X$ be a self mapping which is non-decreasing and satisfies the following inequality:

(2.16)
$$\Psi_1(d(Tx, Ty)) \le \Psi_2(N(x, y)) - \Phi(N(x, y))$$

for all comparable $x, y \in X$, where, $N(x, y) = \max\{d(x, y), d(x, Tx), d(y, Ty), \frac{1}{2}(d(y, Tx) + d(x, Ty))\}$, and $\Psi_1, \Psi_2, \Phi : [0, \infty) \to [0, \infty)$ are such that Ψ_1 and Ψ_2 are continuous, Φ is lower semi-continuous, and $\Psi_1(t) - \Psi_2(t) + \Phi(t) > 0$ for all t > 0. If X has the property described in (1.1) and if there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, then T has a fixed point.

4

3. Fixed Point of a Single Mapping

Theorem 3.1. Let (X, d) be a complete metric space with a partial order ' \leq ' and $T: X \to X$ be a self mapping which is non-decreasing and satisfies the following inequality:

(3.1)
$$\Psi_1(d(Tx, Ty)) \le \Psi_2(N(x, y)) - h(Q(x, y))$$

for $x, y \in X$, where x and y are comparable, $x \neq y$,

(3.2)
$$N(x,y) = \max\{d(x,y), d(x,Tx), d(y,Ty), \frac{1}{2}(d(y,Tx) + d(x,Ty))\},\$$

(3.3) $Q(x,y) = \min\{d(x,y), d(x,Tx), d(y,Ty), \frac{1}{2}(d(y,Tx) + d(x,Ty))\},\$

 $\Psi_1, \Psi_2, h : [0, \infty) \to [0, \infty)$ are such that Ψ_1 and Ψ_2 are continuous, $h : [0, \infty) \to [0, \infty)$ is monotone decreasing in $(0, \infty)$, lower semi-continuous in $(0, \infty)$ with h(t) > 0 for all t > 0 and

(3.4)
$$\Psi_1(s) - \Psi_2(s) + h(s) > 0, \quad s > 0.$$

Further, for all $x \in X$, we assume

$$(3.5) d(x, T^2x) \ge 2d(Tx, T^2x)$$

If X has the property described in (1.1) and if there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, then T has a fixed point.

Proof. Starting with $x_0 \in X$, we construct the sequence $\{x_n\}$ as

$$(3.6) x_n = Tx_{n-1}, n \ge 1$$

Then

$$(3.7) x_0 \preceq x_1 \preceq x_2 \preceq x_3 \preceq \dots \preceq x_n \dots$$

Also when $x_n = x_{n+1}$, T has a fixed point. So we assume

(3.8)
$$x_n \neq x_{n+1} \text{ for all } n \ge 0$$

By virtue of (3.7) and (3.8), putting $x = x_n$ and $y = x_{n+1}$ in (3.1), (3.2) and (3.3), for all $n \ge 0$, we obtain

(3.9)
$$\Psi_1(d(x_{n+1}, x_{n+2})) \le \Psi_2(N(x_n, x_{n+1})) - h(Q(x_n, x_{n+1}))$$

where

(3.10)
$$N(x_n, x_{n+1}) = \max\{d(x_n, x_{n+1}), d(x_{n+1}, x_{n+2}), \\ \frac{1}{2}(d(x_{n+1}, x_{n+1}) + d(x_n, x_{n+2}))\}$$

and

(3.11)
$$Q(x_n, x_{n+1}) = \min\{d(x_n, x_{n+1}), d(x_{n+1}, x_{n+2}), \\ \frac{1}{2}(d(x_{n+1}, x_{n+1}) + d(x_n, x_{n+2}))\}$$

Let, if possible, for some n, $d(x_n, x_{n+1}) < d(x_{n+1}, x_{n+2})$. Then, by the triangle inequality, $0 < d(x_{n+1}, x_{n+2}) - d(x_n, x_{n+1}) \le d(x_n, x_{n+2})$. By the above two inequalities, from (3.10) and (3.11), for all $n \ge 0$, we have

(3.12)
$$M(x_n, x_{n+1}) = d(x_{n+1}, x_{n+2})$$

and

(3.13)
$$0 < Q(x_n, x_{n+1}) \le d(x_n, x_{n+1}) < d(x_{n+1}, x_{n+2}).$$

Then, from (3.9), (3.12) and (3.13) and by the monotone decreasing property of the *h*-function, we have

$$\Psi_1(d(x_{n+1}, x_{n+2})) \le \Psi_2(d(x_{n+1}, x_{n+2})) - h(d(x_{n+1}, x_{n+2})).$$

The above inequality implies that $d(x_{n+1}, x_{n+2}) = 0$ which contradicts (3.8). Hence

(3.14)
$$d(x_{n+1}, x_{n+2}) \le d(x_n, x_{n+1}).$$

In view of (3.14), for all $n \ge 0$, we obtain

(3.15)
$$M(x_n, x_{n+1}) = d(x_n, x_{n+1})$$

and in view of (3.5) and (3.14), we have

$$0 < Q(x_n, x_{n+1}) = \frac{1}{2} (d(x_n, x_{n+2}))$$

$$(3.16) \qquad \leq \frac{1}{2} (d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2})) \le d(x_n, x_{n+1})$$

Using the above relations in (3.9), and by the monotone decreasing property of h, for all $n \ge 0$, we have

(3.17)
$$\Psi_1(d(x_{n+1}, x_{n+2})) < \Psi_2(d(x_n, x_{n+1})) - h(d(x_n, x_{n+1})).$$

Again, (3.14) implies that the sequence $\{d(x_n, x_{n+1})\}$ is a monotone decreasing sequence of non-negative real numbers. Hence there exists $r \ge 0$ such that

$$\lim_{n \to \infty} d(x_n, x_{n+1}) = r.$$

Let, if possible, $r \neq 0$. Taking $n \to \infty$ in (3.17) and using the above relation, by continuity of Ψ_1 and Ψ_2 and by lower semi-continuity of the h, we have $\Psi_1(r) \leq \Psi_2(r) - h(r)$ which contradicts (3.4). Hence,

(3.18)
$$\lim_{n \to \infty} d(x_n, x_{n+1}) = 0.$$

Next we prove that $\{x_n\}$ is a Cauchy sequence. If otherwise, we can have some $\epsilon > 0$ and corresponding subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ such that for every natural number k, we have n(k) > m(k) > k,

(3.19)
$$d(x_{m(k)}, x_{n(k)}) \ge \epsilon$$

and

(3.20)
$$d(x_{m(k)}, x_{n(k)-1}) < \epsilon.$$

Then, for each k > 0, by (3.19) and (3.20), we have

$$\epsilon \le d(x_{m(k)}, x_{n(k)}) \le d(x_{m(k)}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{n(k)}) < \epsilon + d(x_{n(k)-1}, x_{n(k)}).$$

Taking $k \to \infty$, by (3.18), we have

(3.21)
$$\lim_{k \to \infty} d(x_{m(k)}, x_{n(k)}) = \epsilon,$$

Similarly we have the following limits.

(3.22)
$$\lim_{k \to \infty} d(x_{m(k)-1}, x_{n(k)-1}) = \epsilon$$

(3.23)
$$\lim_{k \to \infty} d(x_{m(k)-1}, x_{n(k)}) = \epsilon$$

and
(3.24)
$$\lim_{k\to\infty} d(x_{n(k)-1}, x_{m(k)}) = \epsilon$$

From (3.19), for all $k \ge 1$, $d(Tx_{m(k)-1}, Tx_{n(k)-1}) \ne 0$, which implies that $x_{m(k)-1} \ne x_{n(k)-1}$. Also, by (3.7), $x_{m(k)-1}$ and $x_{n(k)-1}$ are comparable.

Hence, putting $x = x_{m(k)-1}$ and $y = x_{n(k)-1}$ in (3.1), (3.2) and (3.3), we get

$$(3.25) \quad \Psi_1(d(x_{m(k)}, x_{n(k)})) \le \Psi_2(N(x_{m(k)-1}, x_{n(k)-1})) - h(Q(x_{m(k)-1}, x_{n(k)-1}))$$

$$N(x_{m(k)-1}, x_{n(k)-1}) = \max\{d(x_{m(k)-1}, x_{n(k)-1}), d(x_{m(k)-1}, x_{m(k)}), d(x_{n(k)-1}, x_{n(k)}), \\ (3.26) \qquad \frac{1}{2}(d(x_{m(k)-1}, x_{n(k)}) + d(x_{n(k)-1}, x_{m(k)}))\},$$

and

$$Q(x_{m(k)-1}, x_{n(k)-1}) = \min\{d(x_{m(k)-1}, x_{n(k)-1}), d(x_{m(k)-1}, x_{m(k)}), d(x_{n(k)-1}, x_{n(k)}))\}$$

$$(3.27) \qquad \qquad \frac{1}{2}(d(x_{m(k)-1}, x_{n(k)}) + d(x_{n(k)-1}, x_{m(k)}))\}.$$

Taking $k \to \infty$ in (3.26) and (3.27) and using (3.18), (3.22), (3.23) and (3.24), we obtain (3.28) $\lim_{k\to\infty} N(x_{m(k)-1}, x_{n(k)-1}) = \epsilon$ and (3.29) $\lim_{k\to\infty} Q(x_{m(k)-1}, x_{n(k)-1}) = 0.$ Then, by the properties of h,

(3.30)
$$\liminf_{k \to \infty} h(Q(x_{m(k)-1}, x_{n(k)-1})) = c > 0.$$

Further, taking limit as $k \to \infty$ in (3.25), using (3.21), (3.28) and (3.30), and the continuities of Ψ_1 and Ψ_2 we obtain

(3.31)
$$\Psi_1(\epsilon) \le \Psi_2(\epsilon) - c.$$

Next we note that the constructions of (3.19) and (3.20) are valid whenever ϵ is replaced by a smaller value. This is because of the fact that for any $p \in X$, $\{x : d(p,x) < \epsilon'\} \subseteq \{x : d(p,x) < \epsilon\}$ whenever $\epsilon' < \epsilon$. Hence (3.30) is also valid if ϵ is replaced by a smaller value.

Then taking $\epsilon \to 0$ in (3.30) we obtain that $c \leq 0$, which is a contradiction. This proves that $\{x_n\}$ is a Cauchy sequence and therefore is convergent in the complete metric space X. Let $x_n \to z$ as $n \to \infty$ Again, by (3.7), $\{x_n\}$ is a monotone increasing sequence. Hence by the property (1.1) we have $x_n \leq z$ for all $n \geq 0$. Let, if possible, $d(z, Tz) \neq 0$. By (3.8), there exists a subsequences $\{x_{n(j)}\}$ of $\{x_n\}$ such that $z \neq x_{n(j)}$ for all $j \geq 1$. Substituting $x = x_{n(j)}$ and y = z in (3.1), (3.2) and (3.3), we obtain

(3.32)
$$\Psi_1(d(x_{n(j)+1}, Tz)) \le \Psi_2(M(x_{n(j)}, z)) - h(Q(x_{n(j)}, z))$$

where

$$M(x_{n(j)}, z) = \max\{d(x_{n(j)}, z), d(x_{n(j)}, x_{n(j)+1}), d(z, Tz), \frac{1}{2}(d(x_{n(j)}, Tz) + d(z, x_{n(j)+1}))\}$$

and

$$Q(x_{n(j)}, z) = \min\{d(x_{n(j)}, z), d(x_{n(j)}, x_{n(j)+1}), d(z, Tz), \frac{1}{2}(d(x_{n(j)}, Tz) + d(z, x_{n(j)+1}))\}.$$

Taking $j \to \infty$ in the above two expressions we obtain

$$\lim_{j \to \infty} M(x_{n(j)}, z) = d(z, Tz)$$

and

(3.34)
$$\lim_{j \to \infty} Q(x_{n(j)}, z) = \frac{1}{2} d(z, Tz)$$

Letting $j \to \infty$ in (3.32), using (3.33), (3.34), the continuities of Ψ_1 and Ψ_2 and the lower semi continuity of h, we obtain

$$\Psi_1(d(z,Tz)) \le \Psi_2(d(z,Tz)) - h(\frac{1}{2}d(z,Tz)).$$

Since h is decreasing, the above inequality implies that

$$\Psi_1(d(z,Tz)) \le \Psi_2(d(z,Tz)) - h(d(z,Tz))$$

which, by (3.4), contradicts an assumption that $d(z, Tz) \neq 0$. Hence z = Tz, that is, z is a fixed point of T. This completes the proof of the theorem. \Box

4. An Example

Example 4.1. Let $X = \{0, 1, 2, 3, 4,\}$ and

$$d(x,y) = \begin{cases} x+y, & \text{if } x \neq y; \\ 0, & \text{if } x = y. \end{cases}$$

Then X is a complete metric space. Let a partial order be defined as $x \leq y$ whenever $y \geq x$. Let $T: X \to X$ be defined as

$$Tx = \begin{cases} x - 1, & \text{if } x \neq 0; \\ 0, & \text{if } x = 0. \end{cases}$$

Let $\Psi_1, \Psi_2, \Phi : [0, \infty) \to [0, \infty)$ be defined as $\Psi_1(t) = t$ for all $t \ge 0$,

$$\Psi_2(t) = \begin{cases} 2t, & \text{if } 0 \le t \le 1; \\ t + \frac{1}{t}, & \text{if } t > 1. \end{cases}$$

and

$$\Phi(t) = \begin{cases} 1, & \text{if } t > 0; \\ 0, & \text{if } t = 0. \end{cases}$$

We next verify that the function T satisfies the inequality (2.15). Without loss of generality we assume that x > y. Then we have the following cases:

Case-I. $x \in \{0,1\}$. Then on the left hand side of (2.15) we have zero, and (2.15) is automatically satisfied in this case.

Case-II. x = 2, y = 1. Then $\Psi_1(d(Tx, Ty)) = \Psi_1(d(1, 0)) = 1$. N(x,y)=3. Therefore, $\Psi_2(N(x, y)) - \Phi(N(x, y)) = 3 + \frac{1}{3} - 1 = \frac{7}{3}$. Thus (2.1) is satisfied in this case.

Case-III. x = 2, y = 0. $\Psi_1(d(Tx, Ty)) = \Psi_1(d(1, 0)) = 1$. $N(x, y) = \frac{3}{2}$. Therefore, $\Psi_2(N(x, y)) - \Phi(N(x, y)) = \frac{3}{2} + \frac{2}{3} - 1 = \frac{7}{6}$. Thus (2.15) is satisfied in this case.

Case-IV. $x \ge 3, y > 0$. $N(x, y) = 2x - 1 \ge x + y$. Then

$$\Psi_2(N(x,y)) - \Phi(N(x,y)) = 2x - 1 + \frac{1}{2x - 1} - 1(\text{ since } x > y)$$

$$\ge x + y - 2 = \Psi_1(d(Tx,Ty))$$

Thus (2.15) is satisfied in this case.

Case-V. $x \ge 3, y > 0$. Then

$$\Psi_2(N(x,y)) - \Phi(N(x,y)) = 2x - 1 + \frac{1}{2x - 1} - 1 \ge (x - 1) = \Psi_1(d(Tx,Ty)).$$

Thus (2.15) is satisfied in this case also. Considering all the above cases we see that (2.15) is satisfied for all $x, y \in X$. By an application of corollary 2.2, T has a unique fixed point.

Here '0' is the unique fixed point of T. If we take $h(t) = \Phi(t)$ in the above example, then we see that the inequality (3.1) is satisfied in this case. The differences with the above cases arise only when y=0. It is seen that in these cases also satisfy (3.1). Further, T satisfies (3.5). Also, h satisfies all the requirements of Theorem 3.1. Then Theorem 3.1 is applicable to this example.

Remark 4.1. If we assume $Q(x, y) = \min\{d(x, y), d(x, Tx), d(y, Ty)\}$ then also the result of Theorem 3.1 is valid. Then (3.5) is no longer a required condition.

REFERENCES

- YA.I. ALBER, S. GUERRE-DELABRIERE: Principles of weakly contractive maps in Hilbert spaces. In: I. Gohberg, Yu. Lyubich (Eds.), New Results in Operator Theory. In: Advances and Appl., 98, Birkhuser, Basel, 1997, pp. 7–22.
- A. D. ARVANITAKIS: A proof of the generalized Banach contraction conjecture. In: Proc. Amer. Math. Soc., 131(12) (2003), pp. 3647–3656.
- C. E. CHIDUME, H. ZEGEYE, S. J. ANEKE: Approximation of fixed points of weakly contractive nonself maps in Banach spaces. In: J. Math. Anal. Appl., 270(1) (2002), pp. 189–199.
- B. S. CHOUDHURY AND N. METIYA: Fixed points of weak contractions in cone metric spaces. In: Nonlinear Anal.: Theory, Methods and Applications, 72(3-4)(2010), pp. 1589–1593.
- 5. D. DORIC: Common fixed point for generalized (Ψ, Φ) -weak contractions. In: Applied Mathematics Letter, **22(12)**(2009), pp. 1896–1900.
- P.N. DUTTA AND B.S.CHOUDHURY: A Generalisation of Contraction Principle in Metric Spaces. In: Fixed Point Theory and Applications, 2008, (2008), Article ID 406368, 8 pages.
- 7. M. ESLAMIAN, A. ABKAR: A fixed point theorem for generalized weakly contractive mappings in complete metric spaces. Ital. J. Pure Appl. Math. (To appear).
- 8. M. S. KHAN, M. SWALEH, S. SESSA: Fixed points theorems by altering distances between the points. In: Bull. Aust. Math. Soc., 30 (1984), pp. 1–9.
- J. MERRYFIELD, B. ROTHSCHILD, J. D. STEIN, JR.: An application of Ramsey's theorem to the Banach contraction principle. In: Proceedings of the American Mathematical Society, 130 (4) (2002), pp. 927–933.
- B. E. RHOADES: Some theorems on weakly contractive maps. In: Nonlinear Analysis: Theory, Methods and Applications, 47(4) (2001), pp. 2683–2693.
- Y. SONG: Coincidence points for noncommuting f-weakly contractive mappings. In: Int. J. Comput. Appl. Math., (IJCAM), 2(1) (2007), pp. 51–57.
- 12. T. SUZUKI: A generalized Banach contraction principle that characterizes metric completeness. In: Proc.Amer.Math.Soc., **136(5)** (2008), pp. 1861–1869.
- Q. ZHANG AND Y. SONG: Fixed point theory for generalized φ-weak contractions. In: Applied Mathematics Letters, **22(1)** (2009), pp. 75–78.

Ali Abkar Imam Khomeini International University Department of Mathematics P.O. Box 288 34149 Qazvin, IRAN aliabkar99@gmail.com

Binayak S. Choudhury
Bengal Engineering and Science University, Shibpur
Department of Mathematics
P.O. - B. Garden
711103 Howrah, West Bengal, INDIA
binayak12@yahoo.co.in